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ABSTRAK

ASMIAR KASIM 2008. “The Use of Direct and Indirect Speech by The
Students of SMA Negeri I Watan Soppeng”. (Dibimbing oleh Kamsinah dan
Hamsinah Yasin)

Studi ini bertujuan mengetahui kemampuan siswa kelas 11 1PA dalam
menggunakan kalimat langsung dan tidak langsung terutama dalam mengubah
kalimat langsung menjadi kalimat tidak langsung, begitupun sebaliknya dalam
bentuk statement. Disamping itu penulis juga akan memaparkan kesalahan-
kesalahan yang dilakukan oleh para siswa,

Data yang dikemukakan dan dianalisis merupakan data yang diperoleh
dengan cara memberikan beberapa test kepada siswa kelas Il IPA, yaitu berupa
test pilihan ganda dan isian. Dari hasil test tersebut, penulis kemudian menganalis
jawaban yang benar dan yang salah, menguraikan kesalahan-kesalahan yang
dilakukan oleh siswa, dan menstabulasikannya dalam bentuk table untuk
menentukan kemampuan rata-rata siswa dalam menggunakan kalimat langsung
dan tak langsung,

Hasil dari analisis tersebut adalah bahwa siswa yang memberikan jawaban
yang salah lebih banyak dari pada yang memberikan jawaban yang benar. Nilai
tertinggi hanya dicapai oleh satu orang siswa saja, dengan skor 91,43, cukup
65,71-70 dua siswa, rendah 51,43-58,57 delapan siswa, sangat rendah 18,57-48 57
sembilan siswa. Dan skor rata-rata adalah 46,07. Penulis dapat menyimpulkan
bahwa kemampuan dari para siswa dalam menggunakan kalimat langsung dan
tidak langsung adalah “sangat rendah”. Kesalahan yang terjadi banyak terdapat
pada kata ganti orang (pronouns), penggunaan keterangan waktu dan tempat

(adverb time and place) dan dalam mengubah bentuk tensis,



ABSTRACT

ASMIAR KASIM 2008. “The Use of Direct and Indirect Speech by The
Students of SMA Negeri I Watan Soppeng”. (Supervised by Kamsinah and
Hamsinah Yasin)

The aim of this research is to know the ability of the second year’s
students of exact class in using direct and indirect speech, especially in changing
direct speech into indirect speech and vice versa in statement form. The writer
also describes the mistakes that have made by the students.

The data was taken by giving essay and multiple choice tests to the
students. From the test, the writer analyzed the correct and incorrect answers,
described the errors that have been made, and she tabulated it into a table to know
the score average of the students in using direct and indirect speech.

The result of the research shows that there are many students who give
incorrect answers than correct answers. From the data, only one student who get
the highest score (91,43), enough (65,71-70) only two students, bad (51,43-58,57)
by eight students, very bad (18,57-48,57) by nine students. The score average is
46,07. In this case, the writer can conclude that the ability of the students in using
direct and indirect speech is “very bad”. The mistakes are found in the pronouns,

the using adverb of time and place, and in transforming tenses.



YES | CAN

IF vou think you are beaten, you are

IF you think you dare, you don't

IF you lle to win, but think you con't

it's olmost certoin you won't
IF you think you'll lose, you're lost
For cut in the world we find
Success begins with a Fellow's will
It's oll in the state of mind

¥ you thirk you ore out classed, you are

You've got to think high to rise

ou've got to be sure of yoursell’ before

You con ever win a prize
Life"s battles don't aways go to
The stronger or Faster man
Bt sooner or later, the person who wins

ls the one who thinks ond soy: YES | CAN !

vii
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CHAPTER I

INTRODUCTION

1.1 Background

Language is a part of culture that is why it can not be separaied [rom
the human life, It has a big role in human daily activity as a tool of
communication. Without language, people can not interact with others; they
also can share their ideas, feelinpgs, even experiences. Moreover, in the
globalizalion era. language has a bigger role; especially English which
becomes an intermational language. Therefore, we need English as a medium
of interaction with people in other countries. Eventhough Enghish has been
taught from elementary school to senior high school, it is not guaranteed that
we have mastered it and we can speak English fluently as a native speaker.

There are many problems that the students faced in writing or speaking
English especially aboul grammar, because ol it has its own rule in a
sentence.

Grammar is the study of connected words as used for the expressing
our idea, mood or feeling, and wishes to another. In other words, we study
grammar to know how to connect words in a sentence.

Indirect speech is one of grammatical aspects which have its own rule.
It is used to report what another person has said without changing the

intension of that person.



In English, there are certain rules in changing direct speech nto
indirect speech. Because of this, the students are sometimes making mistake
in putting the rule, so that it can cause the mistake in writing.

The writer chooses the title because the wriler realizes that one of the
difficulties encountered by the students is how to change and to use direct
and indirect speech correctly, They still make errors in using them. The
errors can be found in the use of verb forms, tenses, adverbs of time and

place, also pronoun.

1.2 ldentification of Problems

1.3

Based on the background above, the writer tries to identify the problem,
as follows:

1. There are some problems in changing direct speech inlo indirect
speech and vice versa which are faced by the students, especially in
putting the rules.

2 The Students sometimes make some misiakes in making direct speech
and indirect speech. The mistakes can be found in the use of verb forms,

tenses, adverbs of time and place, also pronouns,

Scope of Problems

In this thesis, the writer wants to limit the problems only in using direct
and indirect speech and changing direct speech into indirect speech and vice
versa, especially in form of statement. The writer also limils the problems on

three tenses, they are:



1.4

1.6

. Simple preseni lense
2, Present perlect iense

3. Simple future tense

Statement of Problems
The connection with limitation of the problems that have been
mentioned above, the writer presents the stalement ol problems as
follow:
1. What kinds of the students’ errors in -:hang'm;.,; direct speech into
indirect speech and vice versa?

2. How is the students’ ability in using direct and indirect speech?

Objectives of Study
According to the stalement of problems above, the writer has two
purposes, they are:
1. To describe the studenis’ errors in changing direct speech into indirect
speech and vice versa
2. To explain the students” ability in using direct spesch and indirect
speech.
Operational Definition
Direct speech is the sentence which mentioned directly by the first
speaker. It usually uses quotation mark (*....”). Indirect speech is the
sentence which is not mentioned directly by the first speaker but it 15
reported by the second or another speaker to whom he/she speaks without

changing the meaning or the purpose of the first speaker.



Methodology
In the process of writing, the writer used the methodology as follows:
1.7.1. Library Research
This method was used to get some information or data by reading
some text books, papers, and other materials, which were relevant with
the topic.
1.7.2. Field Research
The field research was used by the writer Lo gel the authentic data
by giving the written tests 1o the students in collecting data,
1. Method of Collecting Data
In this research. the wriler used two instruments/ tests, they
WETe,
1) Muliiple choice test

Multiple choices test consists of 20 items, with a choice of
four or five options, All items were about the using of direct
and indirect speech. This test was in form ol simple present,
present perfect and simple future. Each number gave score
L.

2) Essay lest
The essay tesl consisis of 10 numbers to transform direct

into indirect spesch and vice versa The test involved 3

tenses forms. Each number gave score 3.



The criteria used in finding out the students™ ability were:

Excellent 81 - 100%
Good 71 - B0%
Sufficient 61 - 70%
Bad 51— 60%
Very Bad 0 - 50%

The students who answered correclly from the tolal at the

both of the test forms got 100 score. Method for getting a

crilerion above was done by method as follow:,

SC
P=— x100%
Q
Where, P = Presentation of correcl answer
SC = Mumber ol correcl answer
Q = Total of question

Afler that, the writer disclosed the average score of the
students by using the method as follow:

Nn

H= * 100%

Where, Nm = Total Score

n = Total of students

H = Score average



2.Data Analysis

In analyzing data, the writer used descriptive quantitative
method o analyze all of the data that had been taken from the
studenis. The writer found oul the errors that the students made
and analyzed them. The steps were done by the writer in this
method as follows:

13. The data was grouped inlo (wo forms, they were:
a. Multiple choice test
b. Essay tesl
Each of their form test was separated into the table that
consist of the correct answer and the incorrecl answer,
2). The writer presented the students’ answer in which they gave
the correct answer and incorrect answer from each number.
3). The wriler described the students’ errors which were made by

the students.

1.7.3 Population and Sample

1.

Population

Population of this research was the second vear class of Exact
students in SMAN 1 Watan Soppeng. There were four classes of

exact which consist of 28 students of each class.

2. Sample

In this research, the writer used random sampling system, The
sample was taken randomly from 20 students that were taken
from four classes of exact. In this case, the writer took five

students of each class.



CHAPTER 11

THEORITICAL BACKGROUND

2.1 Previous Study

There have been many researchers done related to thal study. Some
of them are quoiled as lollows:

Mikma (2006) on her research describes the siudents” ability to
determine direct and indirect speech lorms, and lo describe the students ability
to change direct form to become indirect [orm and vice versa, including the
changing ol tenses, verbs, pronoun, and adverbs of ime and place. She limils
the 1enses only on present tense; present continuous tense, present perfect tense,
preseni perfect continuous tense, past perfect tense, past lense, past conlinuous
tense, and future tense. The result of this research shows that the students do
nol know to determine and change some direct and indirect speech seniences
that have dilferent reporting verb [orm.

Orpa Tambung Madeten (2006) on his research describes the
::ﬂ'mpaﬁspn of the ability of ABA Aimaja’s students and non regular program
of English Department, Faculty of Letters, Hasanuddin University in using
reported speech especially in form of reporied stalement. He limits his writing
in six tenses; simple present tense, present continuous tense, simple past tense,
present perfect tense, past perfect lense, and simple luture tense. His research
shows that the highest score of ABA Atmajaya’s students is 94 and the lowest

score 1s 41. Meanwhile, the highest score of Non Regular Program of English



Depariment’s students 15 91 and the lowest score 15 22, Thereflore, the ability of
students of ABA Atmaja in using reported speech is categorized as enough and
the ability of Non Regular Program of English Depariment is categorized as
lack.

Diana Irana (1993) on her research describes the students’ ability in
changing direct to indirect speech and the transformation from indirect to direct
speech. She also explains the lack of mastering of lenses, pronouns, adverbs of
time and adverbs of place. She limits on the forms of five tenses, they are
simple presenl lense, presenl conlinuous lense, simple past lense, present
perlect tense, and simple [uture tense. She [inds that there are many students
who give incorrect answers than the correct answers, Furthermore, the students
from the social program make many mistakes than the students from phyvsic
program. The mustakes can be found in using adverbs of time, pronouns, and
incorrect English diction.

The research that the writer would like to do is similar o those who
have mentioned above. However, it is absolutely difTerent [rom those above. In
thig research, the writer more specifies the problems. She is going to discuss
about direct and indirect speech only in statement form in three forms of tenses,

They are simple present tense, present perfect tense and simple future tense.



2.2 Literary Review
2.2.1 Grammar
According to Harmer (1987:1), grammar is the study and practice
of the rules by which words change their forms and are combined into
senlences.
According lo Flexner (1987:828), grammar is the siudy of ihe
way the sentences ol a language are consirucied morphology and syntax.
According to Huddleston (1984:1), the term "grammar’ is used in
a number of different senses- the grammar of language may be
understood to be a [ull description of the form and meaning of the
sentences of the language or else it may cover only certain, variously
delimited, parts of such a description.
2.2.2 Sentence
The object of study of this thesis is the direct speech and indirect
speech in English. Before discussing about direct and indirect speech,
we should pay attention to the meaning ol a senience. Because direct
speech and indirect speech are the kind of the senience. Some
grammarians give definitions of sentence as follows:
Brewtlon, et. al (1962:191) says: “A senience is a word or a
group of words conveying complete thought, and normally,

containing a subject and a predicate”.



According to Bald, Cobb, and Schwarz (1986:01); “A simple
sentence consists of two parts: subject and predicate. It does not have
any dependent clauses. It may take one or [our different forms: a
stalemenl, a question, an imperative, or an exclamation. Each of these
[our different types of simple sentence has its own structure™

According to Brothers (1962:194). A senience is a word of group
of words conveying a compleied thought and containing a subject and
predicate,

From the three definitions quoted above, it can be concluded that
a sentence consists ol subject and predicate and complete thought.

2.2.3 Direct Speech and Indirect Speech
1. Direct Speech
According to Blackstone (1951:131): “Direct speech is the form
of words actually used by speaker and. when writlen down, is
generally put between inverted commas in English”
Lado (1986:46), give another defimtion of the direct speech:
“Direct speech (kalimat langsung) adalah kata-Kata‘kalimat vang
diucapkan langsung oleh si pembicara”™
A conclusion can be drawn from the two definitions above that
the direct speech is a type of sentence in which the words used by
the speaker are totally unchanged. To make clear, the following are

some examples of the direct speech:

10



He said, “The woman comes ™ (simple present)

He said, “The boy is eating noodles " (preseni continuous)

She said, “The girl has come from Jakaria" (present
perfect)

Dina said, "Eka has been writing the letrer” (present

perfect continuons)

Dean said, “Emy came at nine” (simple pasi)

Sammy said, “Dean was watching TV" (past continuous)

Clark said, “Clay will come late” (simple fuiure)

Fva said, "Jensen is ill" (present tense)

2. Indirect Speech
Mow we are going 1o see the definition of the indirect speech.

According 1o Blackstone (1951:131): “Indirect speech is the
form of words in which what one speaker savs is reported by someone
else, with the maximum of fidelity”

Lado (1986:46) says: “Indirect speech (kalimat tidak langsung)
adalah kalimat vang diucapkan unwk melaporkan kata-kata si
pembicara kepada orang lain™

Harlono, dkk (1996:287) defines indirect speech as follows:
“Indirect speech (kalimat tidak langsung) adalah bilamana reporied
speech memberikan isi pokok kata-kata yang dipakai oleh si

pembicara, dan bukan kata-Kata yang sebenarnya™

11



From the three quotlations written above, it can be said that
indirect speech is a sentence type in which the words used by the
speaker are reporied by another speaker. In this case, some of the
words used by the other speaker 1o report what the first speaker has
said are changed and the meaning of the reporting and reported words
15 still the same.

To make it clear, the [ollowing sentences are in the form of the
indirect speech:

He said that the woman came (simple past)

He said that the boy was eating noodies (past continuos)

She said that the girl had come from Jakarta (pasi perfect)

Dina said that Eka had been writing the letter (past perfect

continuons)
Clark said that Clay would come late {conditional rense)
Eva said that Jensen was il (past tense)
2.2.4 Direct and Indirect Statement

One thing that need to remembered in the indirect speech is the
conjunction that. It is generally put before the indirect stalement, but il
is often omitted. Thar is not used in indirect speech if the direct speech
15 in the command and question forms.

To change the direct speech into indirect speech we need to
present the simple rules for converting it conceming the changes of

verb forms, tenses, pronouns, and the other changes needed.

12



1. Changes in verb forms, auxiliary verbs, and tenses

lense

When the reperting verb describing the statement is in the past

. the tense of verb of the statement in the indirect speech must

be changed. The following are the rules:

.

The simple present becomes the simple past.

Direct: He said, “I eas pizza”

Indirect: He said that he afe pizza.

The present continuous becomes the past continuous,
Direci: He said, “The boy is eating noodles™

Indirect: He said that the boy was eating noodles.

The present perfect becomes the past perfect.

Direct: She said, “The girl kas come from Jakana”
Indirect; She said that the girl had come from Jakarla
The present perfect continuous becomes the past perfect
continuous.

Direct: Dina said, “Eka fras been writing the letier”
Indirect: Dina said that Eka had been writing the letter,
The simple past becomes the past perfect

Direct: Dean said, “Emy came al nine”

Indirect: Dean said that Emy had come at nine.

The past continuous becomes the past perfect continuous

Direct: Sammy said, “Dean was watching TV"

Indirect: Sammy said thai Dean kad been watching TV,

13



. The [uture becomes the conditional/past future

Direct; Ackles said, = Jared will come 10 his house™
Indirect: Ackles said that Jared would come 10 his house™
. The future perfect becomes the past luture perfect/conditional
perfect.

Direct; She said, “1 will have done it."”

Indirect: She said that she would have done it

May become might.

Direct: He said, “You may leave now.”

Indirect: He said that | might leave then.

Must become had to.

Direct; The teacher said, *You must do your homework.”

Indirect: The teacher said that 1 kad fo do my homework.

. Can becomes could

Direct: mother said, “You can play with your friends now.”™
Indirect: mother said that I eould play with my friends then.
Might become maght

Direct: Sam said, “Cliff might change his mind.”

Indirect: Sam said that CRff meight change his mind.

. Had better become had better

Direct: Dean said, “You kad better move now.”

Indirect: Dean said that | had berter move then
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Based on the examples above, we can draw a conclusion that
when the reporting verb of the direct speech is in the past tense, the
reported verb changes into the past tense in the indirect speech. bui
might, and had belter do not change ai all.

When the reporling verb is in the present tense, luture lense, there
15 no change of the tense of the reported verb. The change is only in
pronoun.

The following examples will describe it clearly:
a.  Direct: Jason says, “F am so angry™
Indirect; Jason says that ke is so angry.
b. Direct: Dean has said, “J have seen this woman”
Indirect: Dean has said that ke has seen thal woman
¢. Direct: She has told you, “F am reading”
Indirect: She has told vou that ke is reading.
d. Direct: Bryan will tell me, “I am ready to come with vou”
Indirect; Bryan will tell me that ke is ready to come with me.

If the reported speech related 1o the general facts, simple present
in reported speech is not changed in the past lorm.

The following examples will describe it clearly:

a Direct: He said, “London is a great city.”
Indirect: He said that London is a great city.
b. Direct: He said, “The sun rises in the east”

Indirect: He said that the sun rises in (he east.
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c. Direct: He said, “The earth moves round the sun™
Indirect: He said that the earth moves round the sun.

Another thing that needs to be noticed in transforming the direct
speech inlo indirect speech is the quotation mark (*....."). We use
quotation mark in the direct speech because we repeat the exact words
of the speaker. In the indirect speech quolation mark are not used
because we only give the same meaning, but with some changes in iL

2. Changes of Pronouns

In transforming the direct speech into the indirect speech, the
pronouns are usually changed. The personal pronoun has inflection,
meaning, based on different functions.

Example: The first person singular “1" for the subject. *My’ lor the
possessive adjective, ‘mine’ for the possessive pronoun
and ‘me’ for the object and “my sell” for reflexive.

In changing the direct speech into in the indirect speech, we
ofien change the pronouns incorrectly. When the pronoun is changed
incorrectly the meaning will be different and it will be
misunderstood.

To overcome the difficulties faced by the students in
changing the pronouns, attention need to be given to the changes of

pronouns from the direct speech into indirect speech.
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For example:
a  The change ol subject pronouns
Direct: He said, *f have a book.™
Indirect; He said that ke had a book.
b. The change of objeci pronouns
Direct: He said, “1 can give you a nde”
Indirect: He said that he could give me a nde.
3. Changes of Adverbs of Time and Place
Besides the changes of verbs and pronouns, there are still some
words necessary to be changed in changing the direct speech into the
indirect speech. Let us look at the following words:
a Here becomes there
Direct: Janet said,” she bought a book here vesterday.
Indirect; Janet said that she had bought a book there the
previous day.
b. This becomes that
Direct: She said, “T want to buy this shart.”
Indirect: She said that she wanted to buy that shirt.
¢ These becomes those
Direct: She said, “My mother bought these pencils.”
Indirect: She said that her mother had bought these pencils.
d. Ago becomes before

Direct: He said, “1 saw her in Bali fwo weeks ago.”
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Indirect; He said that he had seen her in Bali two weeks
bhefore.

Yesterday becomes the day before

Direct: He said, “I was here yesterday”

Indirect: he said that he had been there the day before

Last year becomes the previous year

Direct: Jane said, “1 went to Balfi last vear.”

Indirect: Jane said that she had gone 1o Bali the previons
year.

Tenlay becomes that day

Direct: He said, “I want 10 stay home teday.”

Indirect: He said that he wanted to stay home that day.

Now becomes rlen

Direct: John said, “You had better leave now™

Indirect: John said that | had better leave fhen.

Taomorrow becomes the next day

Direct: he said, “1 shall see you tomorrow”

Indirect: He said that he would see me the next day.

Next week becomes the following week

Direct: She said, “She shall go to England next week™

Indirect: She said that she should go to England fhe

Jollowing week.
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k. Last night becomes the night before.
Direct: Father said, “I saw John at the party last night.”
Indirect: Father said that He had seen John at the party the
night before.
I, Tenight becomes that night.
Direct; She said, “You may go home fenight”
Indirect: She said that I might go home thar night
2.2.5 Direct Question
To change the direct question into indirect question is the same as
the rules for changing the tenses and pronouns of direct stalement. To
starl studying the direct question first of all things that have to be
attended are as [ollows:
a The introductory verbs which can be used in indirecl
question are: ask, want fo know, eic.
Example:
1. Direct: “May | go there?”
Indirect: He wanted to know if he might go there,
2. Direct: “Why do you stop here?”
Indirect: He asked him why he stopped there.
b. The question mark (7) is left out.
¢. The auxiliary verb such as cam, wifl, must, erc, are still
used, but they sometimes must be changed into the past

form.
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Example:
1. Direct: “Can you come along?”

Indirecit: He asked me il’ | conld come along,
2. Direct: “Tuti, will you help us?”

Indirect: Thev asked Tuti if she wowuld help them.
3. Direct: “Must I go now?”

Indirect: She wanted 1o know il she had fo go then.
Il" the direct question uses the question words such as:
wiltere, when, why, what, whe, kow, etc. Those words are
used as the conjunction in indirect speech {reported speech).
Example:
1. Direct: He asked me, “HWhere are you going?”

Indirect: He asked me where | was going.
2. Direct: She asked me, ~“What 1s your name?”

Indirect: She asked me wiaf my name was.
3. Direct: He asked me, “HWhere is your book?™

Indirect: He asked me wiere my book was.
4. Direct; “Why did he take it?”

Indirect: He wanted to know wity he had taken it.
5. Direct; “How do vou go 1o school?

Indirect: He asked me how 1 went to school.
6. Direct: “Wien 15 the meeting held?”

Indirect: She asked me when the meeting held.
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e. The conjunction of the direct question to the principle
clause is “if" or “whether”. 1t is used when the question
begin with an auxiliary verb.

Example:
1. Direct: “is your brother al home?
Indirect: He asked me that if my brother was at home.
2, Direct: “De you see my pencil?”
Indirect; she asked me if 1 saw her pencil.
3. Direct: “Are you okay?”
Indirect: He asked me whether if | was okay
4, Direct: “De you love me?™
Indirect; He asked me if I love him.
5. Durect: “Have vou finish vour work?”
Indirect: She asked me if'I have finished my work.
2.2.6 Imperative or Direct Command
Changing the direct command into indirect command is difTerent
from the two kinds of the direct speech that have discussed, In the
indirect command we have a different way 1o change the form. In the
last two types, we use the introductory verb “to say”™ and “to tell” (with
infinitive without to), but in the direct command we do not use them as
introductory verbs, but we use other introductory verbs as a sign of.
a) Command, such as ordered, commanded etc.

Example:
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b)

d)

Direct: He said 10 his servant, “Co away at once!”™

Indirect: He ordered his servant /o go away al once.

Direct: He said, “Run away!™

Indirect: He commanded me 1o run away.

Precept, such as advised.

Example:

Direct; She said (o her son, “Study hard!™

Indirect: She advised her son fo study hard.

Request, such as asked.

Example:

Direct: He said 1o his friend, “Please lend me your pencil!”

Indirect; He asked his friend to be kind enough to lend im
his pencil.

Entreaty, such as begged.

Example:

Direct: He said to his master, “Pardon me, sirl™

Indirect: He begged his master to pardon him.

Prohibition, such as forbade.

Example:

Direct: She said 10 her daughter, “Do not go there.”

Indirect; She forbade her daughter fo go there.
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The imperative form of the verb in the direct command h.EQD,P_]e_S o

=

infinitive phrase in the reporied speech and the exclamation mark (1) 15
not used in the indirect speech.

When a negative direct command is changed into indirect
command, there reporting verb is the same as what i1s used in the
indirect command, but the introductory verb musi be followed by a
negative.

Examples:
a.  Direct: *Don’f po away!”
Indirect: He told me not to go away.
b. Direct: “Don’t lel them in!™
Indirect: He ordered me not fo let them in.
c. Direct: “Don’t bother me!™
Indirect: She asked us not fo bother her.
d. Direct: “Don’t play football there!™
Indirect: Father told us nof fo play football there.
e. Direct: “Don’t be hurry!™

Indirect: He asked me not fo be hurry.

2.2.7 Direct and Indirect Exclamation

The last type of the sentences that need to be changed into indirect
speech is the direct exclamation. If the reported speech is the
exclamatory sentence or optaiive senfence. Reporting verb, say or tell

must be changed in a certain verbs, such as: exclaim, cry out, pray elc.



the students need to choose the suilable verbs according to the context
of the sentence,
Exclamation is a kind of sentencing which means expressing a
surprise toward something.
a) Exclamalory Seniences.
Example:
1. Direct; He said, “Hurrah! My old [nend has come.”
Indirect: He exclaimed with joy that his old friend has come.
2. Direct: He said, “Alas! My uncle was killed in the war.”
Indirect: He cried out with regret that his uncle has been killed
in the war.
b) Optative sentences that expressing wish.
1. Direct: He said, “God bless vou, my dear son.”
Indirect; He praved that God would bless his dear son.
2 Direct: He said, “May God forgive this sinner.”
Indirect: He prayed that God would forgive that sinner,
Beside the expressions above, some other expressions like the
following are also found in this form as follows:
a Direct: He said, “Thank you!™
Indirect: He thanked me.
b. Direct; She said, “Curse the wind”
Indirect: He cursed the wind.

¢. Direct: He said, “Welcome!™
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CHAPTER 111

DATA PRESENTATION AND ANALYSIS -

This chapter talks about the explanation of the data presentation and
analvsis. The data presented in this chapter is the result of the tesi from the
students of SMAN I Watan Soppeng. The writer gave the test to 20 siudents of

Exact class. They are the Second year students of SMUN | Watan Soppeng,

3.1 Data presentation and Analysis One (Multiple Choice Test)

The writer explains all of the answers in which had been given to the
students correct and incorrect. In this case, it is written how many students answer
the option (a), how many students answer the option (b), how many students
answer the option (c). how many students answer the option (d), and how many
students answer the option (g). The correct answer is given a bold mark.

Number of students
1. “He drives his car very [ast”, They said.

The indirect form is:

a. They said that he drove his car very fast. 16

b. They say that he drives his car very [ast. -

¢. They said that he had driven his car very [ast -

d. They say that he drove his car very fast. 1

e. They said that he has driven his car very fast. 3
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In this question, there are 16 students who choose option (a) They said
that he drove his car very fast. This answer is correct because il 1s according to
the rule of changing direct speech into indirect speech, where the indirect form
of simple present |5+ V1 (es/s)] 15 simple past |5+ V2|.

There 15 no student who chooses c}qlinn (b) They say that he drives his
car very last, and (c) Thev said that he had driven his car very [ast. There is
only one student who chooses option (d) They say that he drove his car very
fast, This answer is incorrect because she/he changes the reporiing verb”they
said” in past form into “they say” in present form,

There are 3 students who choose option (e) They sad that he has
driven his car very [ast. This is an incorrect because they change the simple
present [S+ V1 (es/s)] in direct speech into the present perfect tense [S+
have/has + V3] in indirect speech. The answer should be changed into simple

past |S+ V2] in indirect speech,

2. “They will have a meeting”.

The indirect statement form is:

a. He told me that they will have a meeling, 1
b. He told me that they would have a meeting. 11
¢. He tells me that they would have a meeting. 4

d. He tells me that they would meet, -

e. He told me that they would meet. 4
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In this question, there is only one student who chooses option (a) He
told me that they will have a meeting. This answer is incorrect because he/she
doesn’t know how to transform direct speech into indirect speech, especially
in changing simple future [S+ will'shall+V1] in direct speech into
conditional tense |S+ would/should+ V1] in indirect speech.

There are 11 students who choose option (b) He teld me that they
would have a meeting. This answer is correct because the indirect speech of
simple future [S+ will/shall+V1] is conditional tense [S+ would/should+
Vi|.

There are 4 students who choose option (c) He tells me that they
would have a meeting. This answer is incorrect because they use the reporting
verb “He tells” (in present tense). If the answer is (c), the reported speech of
the sentence should be unchanged (still in present tense). But the problem is,
the reported speech of this option is changing into past lense “they would
have a meeting” (conditional lense), so it is totally incorrect The correct
answer is, the reporting verb should be in the past tense He told” and the
reported speech also should be in the past tense In this case, according 1o the
rule of changing direct speech into indirect speech, simple future
[S+willishall+V1] in direct speech should be changed into conditional/past
future tense [S+would/should+V1].

There is no student who chooses option (d) He tells me that they would
meet. There are 4 students who choose option (&) He told me that they would
meet. This is a wrong answer because they changed the noun “a meeting”

becomes the verb “meet”, while the verb in this sentence is “have”.
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3. “Your friends are my [riends”, He told us.

The correct reporied speech of the stalement above is:

a. He told us that your [riends were my friends. 1

b. He told us that our friends were his friends. 9
c. He tells us that my {riends were his fnends. 5
d. He told us that his friends were my friends. ]
e. He tells us that your [nends were his friends. 3

In this gquestion, there is only one student who chooses option (a) He
told us that your friends were my friends. The mistakes are found in the
possessive pronoun “your friends™ should be “our friends™, also the
possessive pronoun *my friends™ which should be *his friends™.

There are 9 students who choose option (b) He told us that our [riends
were his friends. This is a correct answer because it's according to the rule of
changing direct speech into indirect speech and vice versa. They change
present tense [S+ auxiliary verb (amiis,arehas,have)| in direct speech into
past tense [S+ auxiliary verb (was,werehad)] in indirect speech. They
change the possessive pronoun “your friends™ which stands for “us™ into
the possessive pronoun “our friends” in indirect speech and The possessive
pronoun “my friends” which stands for “he”, they change it inlo the
possessive pronoun “his friends” in indirect speech.

There are 6 students who choose option (c) He tells us that my friends
were his friends. This is an incorrect answer because they change the reporting
verb “He told” (in past tense) in the sentence into the present tense *He tells™.
Another mistake can be found in the possessive pronoun “my friends” which

should be “our friiends".
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There is only one student who chooses option (d) He told us that his

friends were my friends. This is a wrong answer. The mistakes are in the

possessive pronoun “his friends” which should be “our friends™ and the

possessive pronoun “my friends”™ which should be *his friends™.

There are 3 students who choose option (e) He tells us thal your

friends were his friends. This is an incorrect answer because they change the

reporting verb “He told” (in past tense) in the sentence into the reporting

verb “He tells” (in present tense). Another mistake is in the possessive

pronoun “your friends” which should be changed into “our friends” in

indirect speech.

4. 11old her that I had something to show her.

The direct form of this sentence 1s;

I said 1o her, “I have something to show her”. I
“] have something to show you™. I said to her. 11
I said to her, “Have vou something to show me?” 1
“l has something to show vou”. I told her. 3
“1 have something to show her”, 1 tell her. 4

In this question, there is only one student who chooses option (a) | said

to her, “I have something to show her”, This is a wrong answer, the mistake

can be found in the object “her” (third person singular) which should be

changed into “you” (second person singular) in direct speech,
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There are |1 studenits who choose option (b) 1 have something 1o
show vou”. [ said 1o her, This is a correct answer because it is according to the
rule of changing direct speech into indirect speech and vice versa, where the
past perfect tense [S+ had+ V3] in indirect speech is changed into present
perfect tense [S+have/has+V3| in direct speech, They also change the object
“her” (third person singular) in indirect speech into the object “you™
(second person singular) in direct speech.

There is only one student who chooses option (c) [ said to her, “Have
you something to show me?” This answer is incorrect because she'he changes
the reporied speech of the sentence (I have something to show you) becomes
the direct guestion (have you something to show me?), while the sentence
of the question is in the statement form.

There are 3 students who choose option (d) “1 has something 1o show
vou™. 1 told her. This answer is incorrect, the mistake can be found in the
auxiliary verb “has™ which should be changed into auxiliary verb “have”,
because “has™ is only used to follow the third person singular such as she, he,
and it, while “have” is used to [ollow the first person singular (1) and the
plural person (they, we, you, etc). So, the correct answer should be *1 have
something 1o show you”, not “1 has something to show you”,

There are 4 students who choose option (e} “T have something 1o show
her”. 1 tell her. This answer is incorrect because they do not change the
object “her” (third person singular) becomes the object “you™ (first
person singular) in direct speech. Another misiake can be found in the
reporting verb™ 1 tell her™ (in present tense) which should be changed into

the reporting verb “I told her or I said to her™(in past tense).
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5. He told them he had a wonderful tnp.

The direct form of the senlence is:

a. He tells them “He has a wonderful inp™, 3
b. He told them “He has a wonderful tnp™. I
c. He told them “They have a wonderful trip™. 3
d. He iells them “I have a wonderful trip”™. |
e. He told them “I have a wonderful trip”. 10

In this question, there are 5 students who choose option (a) He tells
them “He has a wonderful trip”, This is a wrong answer because they change
the reporting verb of the sentence “He told them™ which is in the past tense
into the reporting verb “He tells them™ which is in the present tense.
Another mistake is in the use of the third person singular “He™ as a subject
in direct speech. which should be changed into the first person singular ol
as a subject with an auxiliary verb™ have™, nol “has™.

There is only one student who chooses option (b) He told them “He
has a wonderful trip”. this is an incorrect answer because the subject”He”
(third person singular) should be changed into the subject “I" (first person
singular) in direct speech. Another mistake can be found in the auxiliary
verb “has”. Because the subject is the first person singular “I". So, It
should be followed by an auxiliary verb “have™.

There are 3 students choose option (¢) He told them “They have a
wonderful trip”. This is a wrong answer because they do not change the
subject “they” (third person plural) into the subject “I" (first person

singular) in direct speech,
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There is only one student who chooses option (d) He tells them "l
have a wonderful trip™. This is an incorrect answer because she/he changes the
reporting verb of the sentence “He told them™ which is in the past iense
inio the reporting verb “He tells them™ in present tense.

There are 10 students who choose option {e) He told them “1 have a
wonderful trip”. This answer is correct because it based on the rule of
changing direct speech into indirect speech and vice versa, where the direcl
form of past perfect tense [S+ had+V3] is present perfect tense
|S+havelhas+V3]. The subject of the direct speech in this case should be “I”
(first person singular) which stands for “He” (third person singular),

6. Siti said that he had passed his examunation.
Georgesaid “.........7"

a.  “She has passed her examination™, 10

b. “He had passed his examination™. -

¢. “She passed her examination™. I
d. “I have passed my examination™. 8
e, “I pass my examination™, 1

In this question, there are ten studenis who choose option () “She has
passed her examination”. This 15 a wrong answer because the subject “She”™
(third person singular) should be changed into the subject “I17 (first person
singular) in direct speech. The subject “1” (first person singular) stands for
“George” not “Siti”, Other mistakes are in the auxiliary “has™ which should

be “have” and the possessive pronoun “her™ which should be *my”.
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There is no student who chooses option (b) “He had passed his

examination”. There is only one student who chooses option (c) “She passed
her examination”, This is an incorrect answer. She/he does not the rule of
changing direct speech into indirect speech and vice versa. She/he changes
past perfect tense [S+ had + V3] in indirect speech inlo simple past [S+ VI]
in direcl speech. While correct answer is, the direct form of past perfect tense
[S+ had + V3] should be present perfect tense [S+ have/has + V3| Other
mistakes are found in the subject “She” (third person singular), which
should be changed into the subject ” I (first person singular) in direcl
speech and the possessive pronoun “her™ which should be changed into the
possessive pronoun “my”.
There are & siudents who choose option (d) “1 have passed my examinalion”.
This is a correct answer because it based on the rule of changing direct speech
into indirect speech and vice versa, where the direct form of past perfect
tense [S+ had + V3] is present perfect tense [S+ have/has + V3. They
change the subject “he™ which siands for “George™ in indirect speech into
the subject “I” (first person singular) in direct speech. They also change the
possessive pronoun “his” which stands for “George” in indirect speech into
the possessive pronoun “my” in direct speech.

There is only one student who chooses option (g) "1 pass my
examination”. This is a wrong answer because she'he does not know the direct
form of past perfect tense [S+ had + V3|, She/he uses simple present S+
V1] as the direct form of past perfect tense [S+ had + V3|, while the correct

answer should be in present perfect tense [S+ have/has + V3]
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7. “I'will do it for you™, He 1old me that....

a. [ will do it for hum. -

b. I would do it for him. 2
c. he will do it for me. 1
d. he would do it Tor me. 17

e. he will do it for him. 5

In this question, there is no student who chooses option (a) I will do it for him.
There are two students who choose option (b) 1 would do it for him. This
answer is wrong because they make mistakes in the subject “I" (first person
singular) in indirect speech, it should be the subject “He™ (third person
singular) in indirect speech. Another misiake is in the object “him" (third
person singular) in indirect speech, it should be the object *me™ (first
person singular) in indirect speech,

There is only one student who chooses option (c) he will do it for me.
This is an incorrect answer because he/she still uses the simple future
[S+ will/shall+ V1] in indirect speech which should be changed inlo the
conditional tense |S+ would/should + VI1].

There are 17 students who choose option (d) he would do it for me,
This answer is correct because it is according 1o the rule of transforming direct
speech into indirect speech and vice versa, where the indirect speech of simple
future [S+ will/shall + V1] is conditional tense [S+ would/should + V1],
They change the subject “I” (first person singular) which stands for “He"
(third person singular) in direct speech into the subject “He™ (third person
singular) in indirect speech. They also change the object * you™ (second
person singular) which stands for “me” (first person singular) in direct

speech into the object “me™ (first person singular) in indirect speech.
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kK 2
Neo one student who chooses option (e) he will do 1t for him. '\ o

8. “My father has arrived from London™. He said.

a, He says that his [ather had arrived from London. -

b. He said that his father had arrived from London, 15

¢. He says that his {ather arrived from London. 4

d. He said that his father arrived from London. 3

e. He said that his father arnves [rom London. -

In this question there is no student who chooses option (a) He says that his
father had arrived from London. There are 15 students who choose option (b)
He said that his father had arrived from London. This is a correct answer il is a
according to the rule of changing direct speech inlo indirect speech, where the
indirect speech of present perfect tense [S+ have/has +V3] 15 past perfect
tense |5+ had +V3|.

There is no student who chooses option (¢) He says thal his father arrived
from London. There are 5 students who choose option (d) He said that his
father arrived from London This is a wrong answer because they do not
know how to change direct speech into indirect speech, especially in changing
present perfect tense [S+ have/has + V3] into past perfect tense [S+ had +
V3]. The students make mistake by changing present perfect tense |5+
have/has + V3] in direct speech into simple past [S+ V2] in indirect speech,
while the correct answer is, it should be changed into past perfect tense [S+
had + V3] in indirect speech.

There is no student who chooses option (e) He said that his father armves

from London.
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9. “My brother is a soldier”. The indirect statement form is:
a. She said that her brother was a soldier. 18
b. She said that her brother will be a soldier. -
c. She said that her brother were a soldier 1
d. She says that her brother were a soldier. -
e. She said that her brother is a soldier, 1

In this question, there are 18 studenis who choose option (a) She said
that her brother was a soldier. This is a correct answer because it based on the
rule of changing direct speech into indirect 1 speech: to change the direct
speech into indirect speech in present tense [S+ auxiliary verb (am, is, are,
have, and has)], the sentence musl be changed into past tense [S+ auxiliary
verb (was, were, and had)].

There is no student who chooses option (b) She said that her brother
will be a soldier. There is only one student who chooses option (c) She said
that her brother were a soldier. This is an incorrect answer. The mistake can
be found in the auxiliary verb “were”. Were used to follow the plural noun
such as: they, you, and we in the past tense, while the pronoun of the sentence
is “her brother” (possessive pronoun) which is not a plural noun. Se, it
should be followed by the auxiliary verb “was™ (in the past tense) in indirect
speech.

There is no student who chooses option (d) She says that her brother
were a soldier. And there is only one student who chooses option (g) She said
that her brother is a soldier. This is an incorrect answer because she'he does
not change the tense. The auxiliary verb *is” should be changed into the past

form “was™ in indirect speech.
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10. He said to me “1 am busy”. The indirect form is:
a He says to me that he is busy. 5

b. He tells me that he would be busy. -

c. He said he 15 busy. 1
d. He told me that he was busy. 12
e. He said 1o me that | was busy. 2

In this question, there are 5 students who choose option (a) He says lo
me that he is busy. This is a wrong answer because they make a mistake by
changing the reporting verb “He told” (in past lense) into the reporting
verb “He says™ (in present tense). The correct answer is, the reporting verb
should be still in past lense “He told or He said™. The reported speech
should be changed into past tense. So, the auxiliary verb “is™ (in present
tense) should be changed into the auxiliary verb “was” (in past lense) based
on the rule of changing direct speech into indirect speech, where ihe indirect
speech of present tense [S+ auxiliary verb (am, is, are, has and have)]| 1s
past tense [S+ auxiliary verb (was, were, and had) |.

There is no student who chooses option (b) He tells me that he would
be busy. And there is only one student who chooses option (c) He said he is
busy. This is an incorrect answer because the auxiliary verb “is” should be
changed into the auxiliary verb “was” in indirect speech.

There are 12 students who choose option (d) He told me that he was
busy. This is a correct answer because it is according to the rule of changing

direct speech into indirect speech, where the indirect speech of present tense
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|S+ auxiliary verb (am, is, are, have and has)] is past tense [S+ auxiliary
verb (was, were, and had)]. The subject “I" (first person singular) in
direct speech stands for “He” (third person singular). So, the subject in
indirect speech is “He” (third person singular) and it followed by the
auxiliary verb “was™ (in past form).

There are 2 students who choose option () He said (o me that I was busy.
This is a wrong answer because the pronoun “I® (first person singular)
should be changed into the pronoun “he” (third person singular) in indirect

speech.

11. Dini said, “I try 1o gel a taxi™.
Dini said that... ...
a. she tried to get a taxi. | 17
b. she tries to get a taxi. |
c. she will try to get a taxi. !
d. she was tried to get a laxi. 1
e. she gol a taxi -
In this question, there are 17 students who choose option (a) she tried
to get a taxi. This answer is correct because it is according 1o the rule that the
indirect speech of simple present [S+ V1 (es/s)] 15 simple past |S+ V2].
There is only one student who chooses option (b) she tres 1o gel a taxi.
This is incorrect because she/he makes mistake in the verb-form. The present
form of verb in direct speech of simple present |S+ V1 (es/s)] should be

changed into past-form of verb in indirect speech of simple past [S+ V2].
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There is only one studeni who chooses option (c) she will 1ry to get a
taxi. This is an incorrect answer because she/he does not know how to change
direct speech inlo indirect speech properly, especially how lo change simple
present [S+ V1 (es/s)] into simple past |[S+ V2.

There is only one student who chooses option (d) she was tried lo get a
taxi, This answer is wrong because shehe makes mistake by changing the
direct speech of simple present [S+ V1 (es/s)] into past-form with an
auxiliary verb “was” (was + tried) in indirect speech.

MNo one student who chooses option (g) she got a taxi.

12. Barbara said to Dean, “My uncle has sent me a letter”.

The indirect form 1s:

a  She tells him that her uncle sends her a letler. 4
b. She told him that her uncle had been sending him a letler. 1
¢. She told him that her uncle had sent her a letter. 14

d. She told him that his uncle sent her a letier. -

e. She tells him that his uncle had sent her a letter. ]
In this question, there are 4 students who choose option (2) She tells
him that her uncle sends her a letter. This is an incorrect answer because they
change the reporting verb “Barbara said to Dean” (in past tense) into the
reporting verb “She tells him” (in present tense). Another mistake is in the
verb-form “sends” (present form) which should be changed into the verb-
form “had+ sent” (past perfect tense) in indirect speech, based on the rule of

changing direct to indirect speech.
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There is only one student who chooses option (b) She told him that her
uncle had been sending him a letter, This is incorrect because she/he changes
the present perfect tense |S+ have/has + V3] in direct speech into past
perfect continuous [S+ had +been +V1 +ing| in indirect speech. The correct
answer is, it should be changed into past perfect tense [S+ had + V3] in
indirect speech. Another mistake is in the object “him” (third person
singular) which should be “her™ (third person singular).

There are 14 students who choose option (c) She told him that her
uncle had sent her a letier. This is a correct answer. The students already know
how to change direct speech into indirect speech. In this case, in changing
present perfect tense [S+ have/hast V3| in direct speech into past perfect
tense |[S+ had+ V3] They change the subject “my uncle” (possessive
pronoun) which stands for “Barbara™ (proper noun) in direct speech inlo
the subject “her uncle” (Barbaras’uncle) possessive pronoun in indirect
speech. They also change the object “me™ (first person singular) which
stands for “Barbara” (proper noun) in direct speech into the object “her™
(third person singular) in indirect speech,

There is no student who chooses option (d) She told him that his uncle sent
her a letter. And there is only one student who chooses option (e) She tells
him that his uncle had sent her a letter. This is incorrect because he/she
changes the reporting verb “Barbara said to Dean™ (in past tense) mnto the
reporting verb “she tells him™ {in present tense). She/he also make mistake in
the subject “my uncle” (possessive pronoun) which stands for “Barbara”™
in direct speech which should be changed into the subject "her uncle”

(Barbaras'uncle) possessive pronoun in indirect speech.
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13. “1 will be so laie tomorrow”, the director said.
The director sad to me that......
a. he would be so late tomorrow. 9
b. 1 would be so late the next day. -
¢ he will be so late that day. -
d. [will be so lale lomorrow. -
¢. he would be so late the next day. 11

In this question, there are 9 students who choose option (a) he would
be so late tomorrow. This is an incorrect answer because they make a mistake
in adverb of time “tomorrow” which should be changed into the adverb of
time "the next day”™ in indirect speech.

There is no student who chooses option (b) 1 would be so late the next
day, (c) he will be so late that day and option {d) 1 will be so late tomorrow.
‘There are 11 students who choose option (e) he would be so late the next day
this answer is correct because they change direct speech inlo indirect speech
correcily, especially in changing simple future [S+ will/shall+ V1] into
conditional tense [S+ would/should+ V1], They change the subject ol b
(first person singular) which stands for “the director™ (proper noun) in
direct speech into the subject “he™ (third person singular) in indirect speech.
They also change the adverb of time “tomorrow”™ in direct speech into the

adverb of time “the next day™ in indirect speech.
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|4. “Time is precious”, the teacher told the pupils.

The teacher told the pupils.........

a. that time is precious. I

b. that time will be precious. -

¢. that time was precious, 19

d. totime is precious. -

e, don’t waste the time. =
In this question, there is only one student who chooses option (a) that time is
precious. This is an incorrect answer. She/he makes mistake in changing direct
speech into indirect speech especially in changing present tense |5+
auxiliary verb (am, is, are, have and has)| inlo past tense |[S+ auxiliary
verb (was, were, had)|. She/he still uses “present tense™ in indirect speech
which should be changed into *past tense™ in indirect speech.

There is no student who chooses option (b) that time will be precious,

(d) 1o time is precious and (e) don’t wasle the lime. There are 19 students who
choose option (c) that time was precious. This answer is correcl. The students
already now how to change direct speech into indirect speech correctly,
especially in changing present tense [S+ auxiliary verb (am, is, are, have
and has)| in direct speech into past tense [S+ auxiliary verb (was, were,
had)] in indirect speech,
15. “I'll come to your house tonight, John™.

She told John... .......

a. | would come to her house that might. "

b. that she will come to his house tomght. 4
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¢. that she would come to my house tomght. .
d. that she would come to his house that night. 16
g. John come to her house that night. =

In this question, there is no student who chooses option (a) | would
come 1o her house thal night. There are 4 sludents who choose option (b) that
she will come to his house tonight. This is incorrect because they do not
change the simple future [S+ willlshall +V1| in direct speech nto
conditional tense |S+ would/should +V1] in indirect speech. They still use
simple future |S+ will/shall +V1] in indirect speech. Another mislake can be
found in the adverb of time “tonight™ in direct speech which should be
changed into the adverb of time “that night™ in indirect speech.

There is no student who chooses aption (c) that she would come to my
house tonight and (e) John come to her house thal night. There are 16 students
who choose option (d) that she would come to his house that night. This is the
correct answer because they change simple future [S+ willshall+Vi] in
direct speech inlo conditional tense. [S+ would/should+V1] in indirect
speech correcily. They change the subject “I” (first person singular) in
direct speech into the subject “she® (third person singular) in indirect
speech. They change the object “your house™ (possessive pronoun) which
stands for “John” in direct speech into the object “his house™ (pessessive
pronoun) in indirect speech. They also change the adverb of time “tonight”

in direct speech into the adverb of time “that night™ in indirect speech.
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16. “The entire trip costs us one thousand dollars”, the manager said.
The manager said that the entire trip... ... .one thousand dollars.

a, costing us L

b. cost them 5
¢, oosted us 3
d. costed them 11

e. cosis them !

In this question, there is no student who chooses oplion (a) costing us.
There are 5 siudents who choose option (b) cost them. This 1s a wrong answer,
because they do not change the present form “cost™ inlo past form “costed”™
in indirect speech.

There are 3 students who choose option (¢) costed us. This is an
incorrect answer because they do not change the object “us” (first person
plural) in direct speech into the object “them” (third person plural) in
indirect speech.

There are 11 students who choose option (d) costed them. This is the
correct answer, They change simple present [S+ V1 (es/s)] in direct speech
into simple past |S+ V2] in indirect speech.. They also change the object
‘us” (first person plural) into the object “them” (third persen plural) in
indirect speech.

There is only one student who chooses option (€) costs them. This is a
wrong answer because she/he still uses simple present S+ V1 (es/s)] in
indirect speech. The correct answer is, il should be changed into simple past

|S+ V2] in indirect speech.
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17. He said, “I wall wail for you”, The indirect is..... "
a  He said that he will wait for me. I
b. He said that he would wait for me. 12

¢. He said that he will have wail for me, -
d. He said that he will have been waiting for me. -
e. He says that he will wait for me, .

In this question, there is only one student who chooses option (a) He
caid that he will wait for me, This answer is incorrect because she/he still uses
simple future |S+ will/shall +V1] in indirect speech, while the correct answer
is it should be changed inlo conditional tense [S+ would/should +V1] in
indirect speech.

There are 19 studenis choose option (b) He said that he would wait for
me. This is correct, and it shows that they already know how to change direct
speech into indirect speech, especially in changing simple future |S+
will/shall+ V1] in direct speech into conditional tense |5+ would/should
+V1] in indirect speech.

There is no student chooses option (c) He said that he will have wait
" for me, (d) He said that he will have been waiting for me, and (e) He says that

he will wait for me.

18. “I am a student and 1 have studied for three vears™,
He said that he... .... a student and. .. ..... for three years.
a. 15, have studied -

b. was, studied 2
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¢.  was, have studied -
d. was, had studied 18
e. is, had studied -

In this question, there is no student chooses option (a) is, have studied,
There are only two students who choose option (b) was, studied, This answer
is incorrect because they change present perfect tense |S+ have/has +V3] in
direct speech into simple past [S+ V2] in indirect speech which should be
changed into past perfect tense |S+ had +V3] in indirect speech.

There is no student chooses oplion (c) was, have studied, and () IS,
had studied. There are 18 students who choose option (d) was, had studied.
This is a correct answer because il is according to the rule of changing direct
speech into indirect speech. They change present tense |5+ auxiliary verb
(am, is, are, have and has)] in direct speech into past tense [S+ auxiliary
verb (was, were, had)] in indirect speech. They also change the present
perfect tense [S+ have/has +V3] in direct speech inlo past perfect tense [S+

had +V3] in indirect speech.

19 *1 work here”. Don answered.

a. Don answered that he worked there. 14
b. Don answered that he works here, 4
¢. Don answers that he worked there. 1
d. Don answers that he works here. 1

s Don answered that he had worked here. -
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In this guestion, there are 14 students who choose option (a) Don
answered that he worked there. This answer is correct because they change
simple present [S+ V1 (es/s)] in direct speech inlo simple past [S+ V21| in
indirect speech correctly, They also change the adverb of place “here” in
direct speech into the adverb of place “there” in indirect speech.

There are 4 students who choose option (b) Don answered that he
works here. It shows that they are not aware of fact that when they change
direct speech into indirect speech, simple present IS+ V1 (es/s)] should
become simple past [S+ V2|. They think that they still can use simple
present [S+ V1 (es/s)] in indirect speech. Another mistake can be [ound in the
adverb of place “here” in direct speech which should be changed into the
adverb of place “there” in indirect speech.

There is only one student chooses option (c) Don answers that he
worked there. I is also incorrect because they change the reporting verb
“Don answered” (in past tense) into the reporting verb “Don answers™ (in
present iense).

There is also only one student who chooses option (d) Don answers
that he werks here. This is a wrong answer because she/he changes the
reporting verb “Don answered™ (in past tense) into the reporting verb
“Don answers” (in present tense). Another mistake is also found in the
changing of direct speech into indirect speech. Shehe does not change simple
present [S+ V1 (es/s)] in direct speech mto simple past [S+ V2] in indirect
speech. She/he also does not change the adverb of place “here” in direct
speech into the adverb of place “there” in indirect speech.

There is no student chooses option () Don answered thal he had

worked here.
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20. He said, “1 will study hard 10 pass this exam™, The indirecl is:
a. He says that he will study hard (o pass this exam. -
b. He said that he would study hard 1o pass this exam, 6
¢. He says that he would study hard to pass this exam. 2
d. He said that I will study hard 1o pass that exam. -
2. He said that he would study hard to pass that exam. 12

In this question, there is no student chooses oplion (a) He says thal he
will study hard to pass this exam. There are 6 students choose oplion (b) He
said that he would study hard 1o pass this exam. This is a wrong answer
because they do not pay attention to the noun “this” in direct speech, which
should be changed into the noun “that” in indirect speech.

There are 2 students who choose option (¢) He says that he would
study hard to pass this exam. This is an incorrect answer because they change
the reporting verb *He said™ (in past [orm) inio the reporting verb *He
says™ (in present form). Another mistake 15 in the noun *this™ which should
be changed into the noun “that™ in indirect speech.

There is no student chooses option (d) He said that 1 will studv hard io
pass that exam. There are 12 students who choose option (¢) He said that he
would study hard to pass that exam, This answer is correct because il based on
the rule of transforming direct speech into indirect speech, where the simple
future [S+ will/shall+ V1] in direct speech are changed into conditional
tense [S+ would/should +V1] in indirect speech. They change the subject
“1" (first person singular) in direct speech into the subject “he” (third
person singular) in indirect speech. They also change the noun “this™ in

direct speech into the noun “that™ in indirect speach,
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Afler looking at the data and analyzing the result of the test, the writer
shows on the lable the result of the studenis work in choosing the correct
answer thal consist of 20 numbers and each of the numbers consists of five
oplions,

For knowing the answer presentation thal is correcily from the test

resull of the students, so the wriler uses formula as lfollow:

SC
P=—x100%
Q

49



Tahle 1
“Multiple Choice Test™

The Ability of Each Student
Sllﬁ:"ls NT rI:rEr ::;:ﬁ score Tgirﬂl percenlage
' questions correct answer

| 20 11 1 11 55%
. 20 12 1 12 60%
3 20 13 | 13 63%
4 20 14 I 14 T0%
5 20 11 1 Il 35%
65 20 11 | I 55%
) 20 16 1 16 80%
8 20 16 1 16 80%
9 20 16 1 16 80%
10 20 14 | 14 T0%
11 20 12 | 12 60%
12 20 17 | 17 83%
13 20 14 | 14 T0%
14 20 15 | 15 T5%
15 20 16 1 16 801%
16 20 16 1 16 80%
17 20 14 1 14 70%
18 20 19 1 19 95%
19 20 7 1 7 35%
20 20 11 1 11 55%

S0




Students’ Ability in General

“Multiple Choice”

Number Total of correct answer
of | Numberof perceniage
stud questions Correct s
s answer
| 20 19 19 95
1 20 17 17 83
5 20 16 G g0
| 20 15 15 T5
4 20 14 14 70
1 20 13 13 65
2 20 12 12 6l
4 20 11 1 55
l 20 13 7 35
20 Score Average |. 68,75

Based on the table above, there is no student who answers the entire
guestions correctly (100%). There 15 only one student who gives 19 correct
answers (95%), and it is excellent criterion. There is only one student who
gives 17 correct answers (85%), and it 15 also excellent criterion. There are 5
students who give 16 correct answers (80%), and it is good eriterion. There is
only one student who gives 15 correct answers (75%), and 1t 15 also good
criterion. There are 4 studenis who give 14 correct answers (70%), and it Is
sufficient criterion. There is one student who gives 13 correct answers (63%),
and it is also sufficient criterion. There are 2 students who give 12 correct
answers (60%), and 1t 15 bad cntenon, There are 4 students who give 11

correct answers (55%), and it ig also in bad criterion. And there are only on

student who gives 7 correct answers (35%), and it is very bad criterion,
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The level student’s ability in using direct and indirect speech in

statement form in multiple choices is sullicient {68,75).

3.2 Data Presentation and Analysis Two (Essay Test)

The second question is essay test. This part consists of 10 numbers and
the students have Lo transform the sentence from direct speech into indirect
speech and vice versa. The data is not grouped according 1o the tenses

1. He said that he would be a doctor.

Answer:

a. Correcl:
He said, “1 will be a doctor” 12

b. Incorrect:
“He will be a doclor”, He said 2
He says. “He will be a doctor™ |
“He will be a doclor”. Said Tono |
He says “1 will be a doctor” 1
He said “1 be a doctor™ 1
“1 am will be a doctor”. He said 1
“I wall be a doctor™ 1

In the question number 1, there are 8 studenis who give incorrect
answer. Most of them make mistake because they do not know how to change
direct speech into indirect speech, especially in changing simple future [S+
will/shall +V1] in direct speech into conditional tense [S+ would/should
+¥1] in indirect speech and vice versa Another mistake can be found in the
subject “he” (third person singular) in indirect speech which should be

changed into the subject “I” (first person singular) in direct speech.
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There are 12 studenis who answer the question correctly. They change
the indirect speech into direct speech correctly. In this case, the conditional
tense |S+ would/should +V1] in indirect speech into simple future |5+
will/shall +¥1]| in direct speech. They change the subject *he” (third person
singular) of indirect speech into the subject “I” (first person singular) in

direct speech.

2, Niken said that she was in the living room then

Answer:
a. Correct:
Miken said, “I am in the living room now™ I
b. Incorrect:
“I am in the living room then” Niken says. 1
“I in the living room then™ Miken told her. 1
“] am in the living room then™ Niken told her. |
Miken says “She is in the living room then” 1
Niken said “I am in the living room then™ 7
“She is in the living room then” Niken said. 4
“She is in the living room” 1
Niken said “l was in the living room yesterday™ 2

In the question number 2, there are 18 students who give incorrect
answer. The mistake can be found in their lack of knowledge in changing
direct speech into indirect speech and vice versa. They don’t know how to

change past tense [S+ auxiliary verb (was, were, had)] in indirect speech
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into present tense [S+ auxiliary verb (am, is, are, have and has)] in direct
speech. They also make misiakes in the subject “she™ (third person
singular) in indirect speech which should be changed into the subject “I7
(first person singular) in direct speech. Another mistake is in the adverb of
time “then™ which should be changed into the adverb of time “now™ In
direct speech,

There is only one student who gives the correct answer. She'he
changes indirect speech into direct speech correctly. She/he transforms past
tense [S+ auxiliary verb (was, were, had)] in indirect speech inlo present
tense [S+ auxiliary verb (am, is, are, have and has)| in direct speech.
She/he changes the subject “she” (third person singular) which stands for
“Niken” in indirect speech into the subject “1™ (first person singular) in
direct speech. She/he also changes the adverb of time “then™ in indirect

speech into the adverb of time “now™ in direct speech.

One student does not answer the question above.

3. Adnan said, “1 have done everything to prevent it”.

Answer.
a Correct:
Adrian said that he had done everything to prevent it. 11
b. Incorrect:
Adrian said, 1 have done everything to prevent it 1
Adrian said that he had been do everything to prevent it. 1

Adnan said that he have been do everything to prevent it. |
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He have done everything to prevent it. 2
Adrian said that he had done evervihing to prevent that. 1
Adrian said that he had been doing everything to prevent il. |
Adrian said the he had done everything to prevent it. 1
She told me that she has done everything o prevent 1L !

In the question number 3, there are 9 students who give the wrong
answer. The mistake can be seen in their lack of knowledge in changing direct
speech inlo indirect speech, In this case, in changing present perfect tense
|S+have/has+V3| in direct spesch into past perfect tense [S+ had +V3] in
indireci speech. Some of the students do not change the reported speech of the
sentence. Another mistake is still in the changing of the subject. The subject
“I* (first person singular) in direct speech should be changed into the
subject “he” (third person singular) in indirect speech.

There are 11 students who give the correct answer. They change
present perfect tense [S+have/has+V3| in direct speech into past perfect
tense [S+ had +V3] in indirect speech correclly. They also change the
subject “1” (first person singular) which siands for “Adrian™ in direct

speech into the subject “he” (third person singular) in indirect speech.

4. Susi said, “1 am on holiday with my [riends”.
Answer:
a. Correct:

Susi said that she was on holiday with her friends. 9
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b. Incorrect:
Susi said that she is on holiday with her friends. 2
Susi told that she was on holiday with her friends. i
She on holiday with her [riends. 1

She said that she was on holiday with her fnends. !

She is on holiday with her friends. |
Susi said that he was holiday with her friends. 1
Susi said that she was on holiday with my friends. 2
Susi said that she was on holiday with his [nends. 1

In the question number 4, there are 10 students who give incorrect
answer. They still make mistake in changing direct speech into indirect speech,
especially in changing present tense [S+ auxiliary verb (am, is, are, have
and has)] in direct speech inlo past tense [S+ auxiliary verb (was, were,
had)] in indirect speech. Some of them are forget to change the auxiliary
verb “am” (present tense) in direct into the auxiliary verb “was™ (past lense)
in indirect speech. The mistake also found in the subject “he” (third person
singular) in indirect speech which should be changed into the subject “she™
(Susi) third person singular) in indirect speech. Another mistake is in the
possessive pronoun “my friends” and “his friends™ in indirect speech
which should be the possessive pronoun “her friends™ in indirect speech.

There are 9 students who answer the question correctly. They have
already known how to change present tense [S+ auxiliary verb (am, is, are,

have and has)] in direct speech into past tense [S+ auxiliary verb (was,
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were, had)] in indirect speech. They change the subject “I™ (first person
singular) which stands for “Susi” in direct speech into the subject “she”
(third person singular) in indireci speech. They also change the possessive
pronoun “my friends” which stands for “Susi” in direct speech inlo the
possessive pronoun “her friends” (Susi friends) in indirect speech.

There is one studenl who does notl answer the question,

5. Ani said, “I have seen the [ilm before”.

Answer;

a. Correct:
Ani said that she had seen the {ilm belore. 9

b. Incorrect:
Ani said that she had been seeing the film before. |
Ani said that she had seen the film last ago. 1
Ani said that she had saw the film then. 2
She had saw the film before. 1
Ani told that she has seen the film belore. 2
Ani said had seen the film before, 1
Ani said that she have seen the film before. 2

In the question number 5, there are 10 students who give the wrong
answer. Their answers are nol suitable for the rule of changing direct speech
into indirect speech. In this case, the changing of present perfect tense
[S+have/has+V3] in direct speech into past perfect tense [S+ had +V3] in

indirect speech.
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There are 9 students who give the correct answer because it is
according to the rule of changing direct speech into indirect speech, They
change present perfect tense |S+have/has+V3] in direct speech inlo past
perfect tense [S+ had +V3] in indirect speech comectly. They change the
subject “I” (first person singular) which stands for “Ani™ in direct speech
into the subject “she™ (third person singular) in indirect speech.

There is only one student who does not answer the question above.

6. “I need to borrow some mongy™. My brother told me,

Answer:
a. Correcl:

My brother told me that he needed lo borrow some money. 5
b. Incorrect:

My brother told me that he need to borrow some money. 3

My brother told me that he was needed to borrow some money. 3
My brother told me that he need to borrowed some money. 1
My brother told me that she needed to borrow some money. 1
She told me that she was need to borrow some money, 2
My mother told me that he was needed to borrow some money. |
My brother told me, she need to borrow some money. 1
My brother told me that he needed to borrowed some money. 1

My brother told me, he to borrow some money. 2
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In the question number &, there are 15 students who give incorrect
answer. Some of them, change the indirect speech of simple present [S+
V1{es/s)] into past tense in passive form [auxiliary verb (was) + V3|, and
inlo simple present [S+ V1(es/s)]. While the answer is, it should be changed
into simple past [S+ V2| in indirect speech. Another mistake 15 in the
pronoun “she” (third person singular) as a subject in indirect speech which
should be changed into the subject “he” (third person singular) in indirect
speech,

There are 5 siudents who give the correct answer because it 1s
according 1o the rule of changing direct speech into indirect speech. They
change simple present [S+ Vl(es/s)| in direct speech into simple past [S+
V2] in indirect speech comrectly. They also change the subject “I1™ (first
person singular) which stands for “my brother”™ in direct speech inio the

subject “he™ (brother) in indirect speech correctly.

7.“Mr. Marson has gone oul”, The secretary told me.
Answer:
a. Correct:
The secretary told me that Mr. Marson had gone out, 10
b. Incorrect.

The secretary told me that Mr, Marson has gone out. 1

The secrelary told me that Mr. Marson had been go out. 2
The secretary told me that Mr. Marson have gone oul 2
The secretary told me that me has gone oul. 1
The secretary told me that Mr. Marson had been going out. 1
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The secretary told me that he had gone out. I
The secreiary told me that he has gone oul. !

In the question number 7, there are 9 students who give the wrong
answer, Most of them do not change the reporied speech of the sentence. They
still use present perfect tense [S+have/has+V3| as the changing of present
perfect tense |S+have/has+V3| in indirect speech which should be changed
into past perfect tense |[S+ had +V3] in indirect speech, based on the rule of
changing direct speech into indirect speech, There i5 also a mistake that the
student made by changing present perfect tense [S+have/has+¥3| in direci
speech into past perfect continuous [S+ had+ been+ V1+ (ing)| in indirect
speech. Another mislake also found in the subject “he™ (third person
singular) in indirect speech which should be the subject “Mr. Marson™
(proper noun) in indirect speech.

There are 10 students who give the correct answer. They change
present perfect tense |S+have/has+V3| in direct speech inlo past perfect
tense [S+ had +V3]in indirect speech according to the rule of changing direct
speech into indirect speech. They also do not change the subject “Mr.
Marson” (proper noun) in direct speech into the subject “he” (third person
singular) in indirect speech. Because, the subject “Mr. Marson™ (proper
noun) in direct speech is not stand for the subject “The Secretary™ (proper
noun) and the object “me” (first person singular), so it should not be
changed into the subject “he™ (Mr. Marson) third person singular in
indirect speech. The subject “Mr. Marson in direct speech should be rewrite
into the subject “Mr. Marson” (proper noun) in indirect speech.

Only one student does not answer the question above.

60



8. “l will go 1o the market”, Andrew said.

Answer;

a. Correct:
Andrew said that he would go Lo the market, 7

b. Incorrect:
Andrew said that he would went o the market. 3
He said that I would go to the markel. 1
Andrew said that he will be go to the market. |
Andrew said that he would gone Lo the market. 3
Andrew said that he was will go to the market. 1
Andrew said that he will go 1o the market. 3
Andrew said, She will go to the markel |

In the question number 8, there are 13 students who give the wrong
answer. They are not aware of the fact that simple future “will/shall+ V1"
should be changed into conditional tense™ would/should+ V17, The mistake
in changing direct speech of simple future [S+ will/shall+V1] into indirect
speech of conditional tense [S+would/should+V1] can be seen in the modal
“ywould + V27, “would + V3","will + be”, and “will + V17 which should be
changed into “would + V17, The mistake also found in the subject “1” (first
person singular) and “She™ (third person singular) in indirect speech which

should be changed into the subject “he” (third person singular).
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There are 7 students who give the correct answer. They have known
how 1o change simple future |S+willshall+V1] in direct speech into
conditional tense |[S+would/should+V1] in indirect speech correctly, They
also change the subject “I” (first person singular) which stands [or
“Andrew” in direct speech into the subject “He™ (third person singular) in

indirect speech.

9. “We have lunch in Luigi’s restaurant”. They said.

Answer:
a. Correct:
They said that they had lunch in Lugi’s Restaurant. 8
b. Incorreci:
They said that we has lunch in Lugi’s Restaurant, 3
Thev said that we had lunch in Lugi’s Restaurant. 1

They said that them have lunch in Lugi’s Restaurant. |

They said that they have lunch in Lugi’s Restaurant. 3
They said that us had launched in Lugi’s Restaurant. I
They said that have lunch in Lugi's Restaurant. 1
They said, we have lunch in Lugi’s Restaurant. 1
They said, our had lunch in Lugi’s Restaurant. 2

In the question number 9, there are 12 students who give the wrong
answer. They are not pay aftention to the fact that “have™ should be changed
into the past tense “had™. The mistake in changing direct speech of present

tense |[S+ auxiliary verb (am, is, are, have and has)] into indirect speech of
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past tense |5+ auxiliary verb (was, were, had)] can be seen in the auxiliary
verb “has”, “have”, and *had +V3” which should be changed into *had”.
Another misiake is in the pronoun “we”, “them”, “us”, and “ouwr™ which
should be changed into pronoun “they” (third person plural) in indirect
speech.

There are 8 students who give the correct answer, They change
present tense [S+ auxiliary verb (am, is, arve, have and has)] in direct
speech into past tense |S+ auxiliary verb (was, were, had)] in indirect
speech correctly, They change the subject “we” (first person plural) in
direct speech into the subject “they™ (third person plural) in indirect speech.

10. *1 will phone you tonight™. Sarah told Simon.

Answer:
a. Correct:

Sarah told Simon that she would phone him that night. 2
b. Incorrect:

Sarah told Simon, she will phone vou tomight. 2

[

Sarah told Simon that she was will phone Simon tonight.

Sarah told Simon that she would phone him this night, I

Sarah told Simon that she would phone him tonight. 3
Sarah told Simon that she would phone me tonight. 4
Sarah told Simon that she will be phoned him tomght. I
Sarah told Simon that she would phone you that night. 2
Sarah told Simon that she would phoned her tonight. 1
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Sarah told Simon that she will phone him tonight, I
Sarah told Simon that he would phone you tonighi. 1

In the question number 10, there are 17 students who give the wrong answer.
They are not aware of the fact that “will”® should be changed inlo past tense
“would™. The mistake in changing direct speech of simple future
[S+will'shall+V1] into  indirect  spesch of conditional  tense
[S+would/should+V¥1] can be found in the modal “will + V17, “will + be +
V37, and “would + V2/V3"” which should be changed into “would + VI,
The mistakes also made by the studenis in the subject “he™ which should be
changed nto the subject “she™ (third person singular), and the object
“you™, “Simon”, *me”, and “her” which should be changed into the object
“him™ (third person singular), Ancther mistake is in the adverb of fime
“tonight” which should be “that night™ in indirect speech.

There are only 2 students who give the correct answer. They change the
simple Tuture [S+will/shall+V1] in direct speech into conditional tense
|S+would/should+V¥1] in indirect speech correcily. Thev change the subject
“1" (first person singular) which stands for “Sarah™ in direct speech into the
subject “she” (third person singular) in indirect speech. They change the
object “you™ (second person singular) which stands for “Simon™ in direct
speech inio the object “him™ (third person singular) in indirect speech.
They also change the adverb of time “tonight™ in direct speech into the
adverb of time “that night” in indirect speech according to the rule of
changing direct speech into indirect speech.

One student does not answer the queshon above.



Aller looking at the data and analyzing the result of the test, the writer
shows on the table the result of the students work in changing direct speech
into indirect speech that consist of 10 numbers.

For knowing the correct answer presentation from the test result of the
studenis, 50 the wriler uses formula as follow:

s8C

P= — % 100%
Q
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Table 2
“Essay Test™
The Ability of Each Student

Studenis | Number Total
Noi |0 | e | SO  of | eomiags
queshons COrrect answer

l 10 2 e 30 60%
2 10 l 5 23 10%
3 10 0 5 0 0%
4 10 0 = 0 0%
5 10 5 5 25 50%
6 10 5 5 25 50%
7 10 0 5 0 0%
8 10 4 3 20 40%
9 10 3 3 15 30%
10 10 4 5 20 40%
11 10 5 5 25 S0%
12 10 1 3 2 10%
13 10 -] 5 25 50%
14 10 3 5 25 50%
15 10 4 5 20 4%
16 10 6 5 30 60%
17 10 7 5 35 T0%
18 10 G 5 45 90%
19 10 2 5 10 20%
20 10 2 5 10 20%




Students® Ability in General

“Essay Test™
Number Total of correct answer
of | Dumberof perceniage
i questions Correct score
students —
1 10 9 45 90%
1 10 7 35 T0%
2 10 G 30 6%
5 10 5 25 50%
3 10 4 20 40%
1 10 3 15 3%
2 10 2 1) 20%
2 10 1 5 1%
3 10 0 0 0%
20 Score Average 37

Based on the table above, there 13 no student who can answer all of the
questions correcily (100%). There i1s only one student who gives 9 correct
answers (90%), and 1t is excellent crilerion. There is only one student who
gives 7 correct answers (70%), and it is sufficient criterion. There are 2
students who give 6 correct answers (60%), and it is bad criterion. There are 5
students who give 5 correct answers (50%), and it is very bad critenon. There
are 3 studenis who give 4 correct answers (40%), and it is also in very bad
criterion. There is only one student who gives 3 correct answers (30%), and it
is very bad criterion. There are 2 students who give 2 correct answers (20%),
and it is very bad criterion. There are 2 students who give one correct answer
{10%), and it 15 very bad criterion. And the last, there are 3 students who do

not give the correct answer (0%), so it is also in very bad cnterion.
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The level student’s ability in changing direct speech into indirect
speech and vice versa in statement form in essay is very bad (37).

For this, the following the writer explains the third table in which
shows the presentation of the total students to answer comrectly in changing
direct speech into indirect speech, and likewise on the contrary. The writer

also pults out the criterion that is in showing the students” ability, that 1s:

Criterion Value
Excellent 81— 100%
Good 71 - 80%
Sufficient 6l -70%
Bad 51 - 60%
Very Bad 0 - 50%

To know the students” ability in general (multiple choice and essay) in
determining a criterion, the writer uses the formula and shows on the table, as
follow:;

Nn
= 100%




Table 3

“Multiple choice & Essay Test"
The Ability of Each Student

Students | Total Humh:;ﬂ?{;ﬂ"m Total Total
No. o0 "Multiple | Essay o Score
questions Choice ¥ | Correcl Answer

1 30 11 L 17 al
2 30 12 1 13 17
3 30 13 0 13 I3
4 30 14 0 14 14
5 30 11 5 G 36
&) 30 11 5 16 36
F 30 16 0 6 16
8 30 16 4 20 36
9 30 16 3 19 3l
10 30 14 4 18 34
11 30 12 5 17 37
12 30 17 1 18 22
13 30 14 3 19 39
14 30 15 5 20 40
15 30 16 4 20 36
16 30 16 6 22 46
17 30 14 7 21 49
18 30 19 9 28 64
19 30 7 2 9 17
20 30 11 2 13 21
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Students* Ability in General
“Multiple Choice & Essay Test™

e | B Total Score Pt
! 30 o 91,43
: 30 49 70
1 H 46 65,71
: 30 41 58,57
: 20 40 57,14
' 30 39 55,71
' 30 37 52,86
* 30 36 51,43
' 30 34 48,57
1 30 3 44,29
1 30 22 3143
1 30 21 20
. 30 17 24,29
: 30 16 2286
' 30 14 20
' 30 13 18,57

20 Score Average 46.07

Based on the table above, it can be seen that there is no student who
can answer the entire questions correctly (100%). There is only one student
gets the score of correct answer (91,43), and it is excellent criterion. There 15
one student gets the score of correct answer (70), and it is sufficient eriterion.
There is one student gets the score of correct answer (65,71), and it is also in
sufficient criterion. There is only one student gets the score of correct answer

(58.57), and it is bad criterion. There is one student gets the score of correct
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answer (57,14), and it is bad criterion. There is one student gets the score of
correct answer (55,71), and it is also bad criterion. There is one student gels
the score of correct answer (52,86), and 1t is bad criterion. There are 4 students
gel the score of correct answer (31.43), and it is also in bad cnterion. There 15
one student gets the score of correct answer (48.57), and it is very bad
criterion, There is one student gets the score of correct answer (44,29), and it
is also very bad criterion. There is one student gets the score of correct answer
(31,43), and 1t 15 very bad crilenion. There 15 one student gels the score of
correct answer (30), and it is very bad criterion, There are 2 students get the
score of correct answer (24,29), and il is also very bad criterion. There is one
student gets the score of correct answer (22,86), and 11 15 very bad criterion.
There is one student gels the score of correct answer (20)), and it 15 very bad
criterion. And the last, there is one student gets the score of correct answer
(18,57), and it is also in very bad cnitenon.

The level student’s ability in using direct and indirect speech is very
bad (46,07).

This case means that the ability of the students in changing direct
speech into indirect speech and vice versa in statement form is very bad. The
data refers that from 20 samples of students that had been researched, there are
9 students get the very bad criterion, 8 students get the bad criterion, 2
students get the sufficient criterion, and only one student gets the excellent

criterion in answering all of the questions which are given 30 questions,
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CHAPTER IV

CONCLUSIONS AND SUGGESTIONS

4.1 CONCLUSIONS

Aller analyzing the data that is taken [rom 20 studenls ol Exact class as

the respondent from the second vear students of SMA Negeri I Walan

Soppeng. the writer concludes that the students’ ability in using direct and

indirect speech in statement form is as follows:

1

The students” errors in changing direct speech into indirect speech are
found in such areas as: transforming the tenses, pronouns, and adverb
of time and place.

The students™ ability in changing direct speech into indirect speech and
vice versa is very bad (46,07). One student gets 91,43 score and she/he
is in the excellent criterion. One student gets 70 score, one student gels
65,71 score, and they are in the suflicient criterion. One student gets
58,57 score, one student gets 37,14 score, one student gets 33,71 score,
one student gets 52,86 score, 4 students get 51,43 score and they are in
the bad criterion. One student gets 48,57 score, one student gets 44,29
score, one student gels 31,43 score, one student gets 30, 2 students gel
24.29 score, one student gets 22,86 score, one student gets 20 score,
one student gets 18,57 score and they are in the very bad criterion. The
comparison between multiple choice and essay test shows that multiple

choice is better than essay tesi.
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4.2 SUGGESTIONS
From the result of this research, the writer gives suggestion lo both
students and teachers of SMA Negeri | Walan Soppeng to increase their
attention 1o direct and indirect speech. Having some English grammar books
and 1aking English course are also important for the students to support their

ability in English.
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APPENDIGES




Name
Mim

Choose the best answer [or each of the statement below:
I. “He drives his car very Fast”. They said,

The indirect form is:

a. They said thal he drove his car very [last,

b. They say thai he drives his car very fasi.

¢. They said that he had driven his car very [ast.

d. They say that he drove his car very fast.

e. They said that he has driven his car very fast.

2. “They will have a meeting™.
The indirect statement form is:
a He told me that they will have a meseling,
b. He told me that they would have a meeling.
¢. He tells me that they would have a meeling,
d. He tells me that they would mee,

e. He lold me that they would meet.

3. *“Your friends are my friends”, He told us.
The correct reported speech of the statement above is:
a  He told us that vour friends were my friends.
b. He told us that our friends were his fnends.
¢. He tells us that my friends were his friends.
d. He told us that his friends were my friends.

e. He tells us that vour friends were his friends.



4. 11told her that | had something to show her.

The direct [orm of this sentence is:

ia

b.

i,

d.

=H

I said to her, “I have something to show her™.

*“1 have something to show you™ [ said to her.

I said 1o her, “have you something to show me?”,
“1 has something 1o show you”. I told her.

“I have something to show her”. I tell her.

5. He told them he had a wonderful trip.

The direct form of the senlence is:

a,

b.

He tells them “He has a wonderful trip™.
He told them “He has a wonderful trip"”.
He told them *They have a wonder{ul trip™,
He tells them 1 have a wonderful trip™.

He told them “I have a wonderful trip™.

6. Siti said that he had passed his examination.
Georgesmd “......... i
a “She has passed her examination™.
b. “He had passed his examination”.
¢. “She passed her examination”.
d. “I have passed my examination™,
e “I pass my examination”.



T.

10.

“I will do it for you™. He told me that... ..
a [ will do it for him.

b, 1would do it for him.

¢. he will do it for me.

d. he would do it for me.

e. he will do it for lum.

“My [ather has arrived from London™. He said.

a He says that his father had arrived from London.
b. He said that his father had arrived [rom London,
¢. He says that his father arnved from London.
d. He said that his father arrived from London.

e. He said that his [ather armmives from London,

“My brother is a soldier”, The indirect statement [orm 1s:
a She said that her brother was a soldier.

b. She said that her brother will be a soldier.

¢. She said that her brother were a soldier

d. She says that her brother were a soldier.

e She said that her brother is a soldier.

He said to me “l am busy™. The indirect form is:
a He says lo me that he is busy.

b. He tells me that he would be busy.

¢. He said he is busy.

d. He told me that he was busy.

e. He said 1o me that I was busy.



11. Dini said, “I try 1o gel a laxi™,

Dini said that... ...

a she tried to get a taxi.

b.
c.

d.

@

she tries to get a tax.
she will try to pet a tax.
she was tried to get a taxi.

she gol a taxa,

12. Barbara said 10 Dean, “My uncle has sent me a letter”.

13.

The indirect form is:

ia

b.

.

d.

L8

She tells him that her uncle sends her a letter,

She told him that her uncle had been sending him a letter.
She told him that her uncle had sent her a letter.

She told him that his uncle sent her a letter.

She tells him that his uncle had sent her a letter.

“I will be so late tomorrow™, the director saxd.

The director said to me that... ...

a

b.

he would be so late tomorrow.
T would be so late the next day
he will be so late that day.
I will be so late tomorrow.

he would be so late the next day.



14.

13,

16,

“Time is precious”, the teacher told the pupils.
The teacher told the pupils... ... ...

a  thal ime is precious,

b. that time will be precious.

c. that time was precious,

d. to time 15 precious.

g don't waste the ime.

“I'll come to your house tonight, John™,
She told John.........
a 1| would come o her house that night.
b. that she will come 1o his house tonight.
c. that she would come to my house tonight.
d. that she would come to his house that night,

e. John come to her house that night.

“The entire trip costs us one thousand dollars™, the manager said.
The manager said that the entire trip.......one thousand dollars.

a costing us.

b. cost them.

¢. cosled us.

d. costed them.

e, costs them.



17. He said, “I will wail for you”. The indirect is... ..
a He said that he will wait [or me.
b. He said that he would wait for me,
c. He said that he will have wait [or me.
d. He said that he will have been waiting for me.

e, He savs that he will wait for me.

18. I am a student and | have studied for three years™
He said that he... .... a student and... ..... for three years.
a 15, have studied
b. was, studied
¢. was, have studied
d. was, had studied

e. is, had studied

19. “1 wark here”, Don answered,
a Don answered that he worked there.
b. Don answered that he works here,
¢. Don answers that he worked there.
d. Don answers that he works here.

e Don answered that he had worked here.

20. He said, “1 will study hard to pass this exam”, The indirect is.
a  He says that he will study hard to pass this exam.
b. He said that he would study hard to pass this exam.
¢. He says that he would study hard to pass this exam.
d. He said that T will study hard to pass that exam.

e He said that he would study hard to pass thal exam.



Essavs |
b

1. He said that he would be a docior.

The direct form 1s:

2. Niken said that she was in the living room then,

The direct [orm is:

3. Adrian said, “1 have done everything to prevent it”.

The indirect form 1s:

4. Susi said, “l amon holiday with my [riends™.

The reported form is:

5 Ani said, “I have seen the film before™,

The indirect form is:



Pul these statemenis into reporied speech, as in the example™
Example: “I am tired”. She said,
She said that she was tired.

6. “I need to borrow some money”, My brother told me.

7. “Mr. Marson has gone out”, The secretary lold me.

8. “1 will go to the market”. Andrew said.

9. “We have lunch in Luigi’s restaurant”. They said.

10. “I will phone you tonight”. Sarah told Simon.



UNIVERSITAS HASANUDDIN
FAKULTAS SASTRA
KAMPUS TAMALENREA MAKASSAR

SURAT TUGAS
.Nu.gﬁ'} {H4.11.1.3/PP.27/20078

Sesual dEI‘IE‘,.-"lﬂ peraturan Akademik Unhas Nomor. 1067/104 P/2003, lﬂﬂggﬂ' 28 Juli 2003,
mahasiswa Asmiar Kasim No.Pokok F21104009 Program Studi Sastra Inggris Fakultas Sastra,
telah memenuhi syarat untuk menulis skripsi sebapai tugas akhir penyelesaian studinya
sehubungan dengan hal tersebut, Dekan Fakultas Sastra Unlhas menyetujui penulisan skripsi
mahasiswa tersebut yang berjudul:

THE USE OF INDIRECT SPEECH BY THE STUDENTS OF SMAN | WATAN SOPPENG
- {ACASE STUDY ) '

Dan menugaskan dosen berikut sebagai konsultan:

L. Konsultan 1 :Dra. Hj. Kamsinah, M.Hum. Pangkat Penata Thk. I Gol. 111/d
2. Konsultan [l :Dra. Hj. Hamsinah Yasin, M.Ilum.  Pangkat Pembina Gol. IV/a

Tugas konsultasi ini berlangsung paling lama satu tahun (dua semester) terhitung mulai pada
tanggal dikeluarkannya surat tugas ini.

Harap surat tugas ini dilaksanakan sebaik-baiknya.

-y
o
L »
g
p i
. .
iy =

_ MEICEISE&T: 24 Januan 2008

3 .
s

lembusan :

1.Dekan Fakultas Sastra

2.Ketua Jurusan Sastra [nggris

3. Masing-masing yang bersangkutan



UNIVERSITAS HASANUDDIN
FAKULTAS ILMU BUDAYA
KAMPUS TAMALANREA MAKASSAR

.y

i 92 Juli 2008

Nomor : 20Th/H4.11.1/PP.31/2008
Lamp. : 1 (satu) eksemplar skripsi
Hal  :Undangan Ujian Skripsi

Yth. Panitia Ujian Skripsi
Jurusan Sastra Inggris
Makassar

Dengan hormat,

Bersama ini kami mengundang Saudara untuk menghadiri Ujian Skripsi mahasiswa :

Nama : Asmiar Kasim
MNomor Pokok : F211 04009
Jurusan : Sastra Inggris

Program Studi : Bahasa Inggris

Dengan judul skripsi : THE USE OF DIRECT AND INDIRECH SPEECH BY STUDENTS OF SMAN 1
WATAN SOPPENG (A Case Study):

Hari/tanggal : Jumat, 25 Juli 2008
Pukul : 09.00 wita - selesai
Tempat : Gedung Prof. Husen Abas

Dengan susunan panitia sebagai berikut,

Ketua ¢ Dra. Hj, Kamsinah, M.Hum.
Sekretaris : Dra. Hj. Hamsinah Yasin, M.Hum.
Penguji | : Dra. Fransisca E. Kapoyos, M.Hum.
Penguji 11 : Drs. Simon Sitoto, M.A.

Atas perhatian dan kehadiran Saudara kami sampaikan terima kasih.

St - I_._E’?L. D'Ekﬂ.]'l
! ﬂEamhﬁnmﬁe ',
= G T ; :,_.-u'_..-n-"
; ‘"_-_I-_"--&I:«.r.
T —

Dirs. M. Ar;ir P., M. Hum.
' HIF}.H 1 792 026



DEPARTEMEN PENDIDIKAN NASIONAL
UNIVERSITAS HASANUDDIN

FAKULTAS SASTRA

JALAN PERINTIS KEMERDEKAAN KAMPUS TAMALANREA KM. 10 MAKASSAR - 90245
TELP. (0411) 587223 - 590159 FAX, 5R7223 PSW. 1177, 1178, 1179, 1180, 1187

-

=

Nomor - (01 /H4 11.3/PL 02/2008
Lamp : -
Hal - Permohonan fzin Penelitian

Yih. Kepala Sekolah SMA Negeri | Watan Soppeng
Di Tempat

Dengan hormat,

Bersama ini kami sampaikan bahwa dalam rangka penyelesaian tugas akhir Mahasiswa
Fakultas Sastra Unhas yang tersebut di bawah ini :

Nama : Asmiar Kasim

No. Pokok  : F21104009

Jurusan . Sastra Inggns

direncanakan akan dilaksanakan penelitian pendahuluan dengan judul

* The Use OFf Direct And Indirect Speech By The Students Of SMAN |
Watan Soppeng “

Sehubungan dengan hal ind itu kami mohon kiranya bapak berkenan membenkan izin
terhadap mahasiswa yang bersangkutan untuk melakukan Pengambilan Data sesuai
dengan judul yang dimaksud.di atas perhatian dan kerja sama yang diberikan diucapkan
terima kasih.

Makassar, 10 April 2008
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Tembusan :

I. Pembantu Rektor 111 Unhas '\._'\._ sl ":fn.s a-!h'“
2. Mahasiswa yang bersangkutan Rl P T
3. Pertinggal



PEMERINTAH KABUPATEN SOPPENG
DINAS PENDIDIKAN PEMUDA DAN OLAHRAGA

SMA NEGERI 1 WATANSOPPENG

221an Samudra No. 2 Telepon (0484) 21029 Watansoppeng - 90811 __

URAT KETERANGAN

Nomor : 421.3/ 200/SMAN.1-LBT/ IV /2008

Yang bertanda tangan dibawah ini kepala SMA Negeri | Watansoppeng dengan ini menerangkan
bahwa:

MNama : ASMIAR KASIM

No. pokok : F21104009

Jurusan : Sastra Ingpris

Mahasiswa : Fakultas Sastra UNHAS Makassar

Benar telah melaksanakan penelitian di SMA Negeri | Watansoppeng pada tanggal 2 s.d. 3 Mei
2008 dalam rangka penyelesaian tugas akhir mahasiswa fakultas Sastra Unhas dengan judul
penclitian "THE USE OF DIRECT AND INDIRECT SPEECH BY THE STUDENTS OF SMAN |
WATANSOPPENG™

Demikian surat keterangan ini diberikan untuk dipargmakgn sebagaimana mestinya.

Watansoppeng, 3 Mei 2008
Kepala Sekolah,

“a'.  Drs.Udil Hamzah 4  ——

7. “Pangkat : Pembina Tk. |
. -NIP : 131414393




